9x 732 =

1 mark

561 +3=

1 mark
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=357 - 89

1 mark

640 ~ 8 =

1 mark
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7.68 +13.493 =

1 mark

5x4x10=

1 mark
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6,600 ~ 6 =

1 mark

9 x10x1=

1 mark
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=9,171 - 530

10.

3x391=
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11.

4,532 -19 =

12.

23 X6 =
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13.

72+3=

14.

56.38 + 24.7 =
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15.

6%+ 10 =

16.

7,064 - 502 =
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6-5738=

18.

- 10 =298
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19.

270+ 3=

20.

=95,7/76 — 855
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21.

60 + 15 =

22.

"o
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23] 10-54=

1 mark
24, 785
23
b4
Show
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method
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25.

3 =
E of 1,000 =

26.

50 + (36 + 6) =
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1 mark
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27.

3.9%x30=

28.
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29.

30.

- 100 = 1,059

o1|no

x 140
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31.

32.

418
X 46
Show
your
method
2 marks
3_3_
4 8
1 mark
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DN
®|=

1 mark

1 mark
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35.

7% of 500 =

36.

15% x 1,000 =
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1 mark

1 mark
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37.

0.9 x 200 =

38.

58|12 242

method

Show
your
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2 marks
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39.

95 +5=

40.

=936 + 285
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1 mark

1 mark
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41.

89,994 + 7,643 =

42.

=435 - 30
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1 mark

1 mark
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43.

96 + 4 =

44,

71x8=
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1 mark

1 mark
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45,

46.

50 x 70 =

486 + 3 =
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1 mark
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47.

3.005+6.12 =
48. 71
X 46
Show
your
method
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49.

50.

15x6.1=

20% of 1,800 =
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1 mark

1 mark
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51.
& -+ § =
7 7
1 mark
52 | 291725
Show
your
method
2 marks
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53.

4.

3 _1_
0 20
15% x 440 =
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95.

56.

6574
X 31
Show
your
method
2 marks
4311118
Show
your
method
2 marks
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—
|

-
o

=

58.
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59.

987 + 100 =

60.

689 + 38 =
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1 mark
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